

# International Journal of Multidisciplinary Research and Growth Evaluation.



# An Integral Operator with a Complex Parameter Defined by Subordination Principle

Lolade Modupe Fatunsin 1\*, Folakemi Margaret Okafor 2

- 1, 2 Mathematics Programme, National Mathematical Centre, Abuja, Nigeria
- \* Corresponding Author: Lolade Modupe Fatunsinss

### **Article Info**

**ISSN (online):** 2582-7138

Volume: 06 Issue: 04

July - August 2025 Received: 05-06-2025 Accepted: 08-07-2025 Published: 02-08-2025 Page No: 1268-1273

#### **Abstract**

In this paper, two new subclasses  $\mathfrak{H}(A,B,\alpha,\gamma,\tau,\sigma)$  and  $\mathfrak{M}(A,B,\alpha,\gamma,\tau)$  of univalent functions defined in the unit disk  $\mathbb{U}=\{z\in\mathbb{C}\colon |z|<1\}$  are introduced by applying subordination principle. Analysis of the geometric properties of these new classes with emphasis on coefficient inequality and neighbourhood property were carried out.

Keywords: Analytic Functions, Subordination, Neighbourhood Property, Coefficient Inequalities, Univalent Functions

### Introduction

Let f be the class of functions f(z) defined by

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1}$$

which are analytic in the unit disk  $\mathbb{U} = \{z \in \mathbb{C}: |z| < 1\}$ . Denote by *S* the subclass of *A*, consisting of functions which are analytic, univalent in the unit disk  $\mathbb{U}$  and normalized by the conditions f(0) = 0 = f'(0) - 1.

Let  $\mathbb{T}$  denote the subclass of S consisting of functions whose non-zero coefficients, from the second on, are negative. That is, an analytic and univalent function  $f(z) \in \mathbb{T}$  if it can be expressed as

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k, a_k \ge 0 \tag{2}$$

A function  $f(z) \in S$  of the form (1) is star-like in the unit disk  $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$  if it maps a unit disk onto a star-like domain. A necessary and sufficient condition for a function f(z) to be star-like is that

$$\mathbb{R}\left(\frac{zf'(z)}{f(z)}\right) > 0, z \in \mathbb{U}.$$

The class of all star-like functions can be denoted by S\*

An analytic function f(z) of the form (1) is convex if it maps the unit disk  $\mathbb{U} = \{z \in \mathbb{C}: |z| < 1\}$  conformally onto a convex domain. Equivalently, a function f(z) is said to be convex if and only if it satisfies the following condition;

$$\mathbb{R}\left(1+\frac{zf''(z)}{f'(z)}\right)>0, z\in\mathbb{U}.$$

The class of all convex functions can be denoted by  $C^*$ .

Let f(z) and g(z) be analytic functions in the unit disk  $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$ , then f(z) is subordinate to g(z) in the unit disk  $\mathbb{U}$  written as f(z) < g(z), if there exists a function  $\omega(z)$ , analytic in the unit disk satisfying the conditions w(0) = 0,  $|\omega(z)| < 1$ , which is called a Schwartz function, such that  $f(z) = \omega(g(z))$ . If the function g is univalent in  $\mathbb{U}$ , the f(z) < g(z),  $z \in \mathbb{U} \Leftrightarrow f(0) = g(0)$  and  $f(U) \subset g(U)$ .

Gamma function is a generalization of the factorial function to real and complex numbers (except  $\mathbb{Z}^-$ ) and it is defined by

$$\Gamma(z) = \int_0^\infty t^{z-1} e^{-t} dt \; (\mathbb{R}(z) > 0)$$

Beta function can be referred to as the Euler integral of the first kind, defined by

$$B(x,y) = \int_0^1 t^{x-1} (1-t)^{y-1} dt \ (x,y > 0)$$

For any function  $f(z) \in \mathbb{T}$  and  $\delta \geq 0$ ,  $\delta$  –neighborhood of f is defined by

$$\beth_{\delta}(f) = \{g(z) = z - \sum_{k=2}^{\infty} b_k z^k \in \mathbb{T} : \sum_{k=2}^{\infty} k |a_k - b_k| \le \delta\}$$

Notably, for the identity function e(z) = z,

$$\beth_{\delta}(e) = \{g(z) = z - \sum_{k=2}^{\infty} b_k z^k \in \mathbb{T} : \sum_{k=2}^{\infty} k |b_k| \le \delta\}$$

Atshan et al [2], defined and study the integral operator I(z), represented by

$$I(z) = Q_{\gamma}^{\tau} = {\tau + \gamma \choose \gamma} \frac{\tau}{z^{\gamma}} \int_{0}^{z} t^{\gamma - 1} \left( 1 - \frac{t}{z} \right)^{\tau - 1} f(t) dt,$$

 $(\tau > 0, \gamma > -1, z \in \mathbb{U}).$ 

and it can be easily verified that

$$I(z) = Q_{\gamma}^{\tau} = z - \sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} a_k z^k$$
(3)

Researchers in the geometric function theory have introduced several subclasses of analytic univalent functions defined in the unit disk  $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$  and studied their geometric properties,  $(^{[5], [6], [7]})$ . Integral operators play a vital role in geometric function theory and this has attracted the attention lot of researchers in this line, to further introduce new classes of univalent functions defined by subordination – based integral operator within the unit disk  $\mathbb{U}$  and as well investigate their geometric properties. For further study, see  $(^{[1], [3], [8], [9]})$ .

In light of this progression, the current study introduces an integral operator which extends the work of Atshan *et al* [2] by incorporating additional complex parameters.

### Lemma 1 [2]

Let  $Q(A, B, \alpha, n)$  consists of all analytic functions m in  $\mathbb{U}$  for which m(0) = 1 and

$$m(z) = \frac{1 + [B + \alpha((1-\alpha) + (A-B)]z}{1 + Bz}$$

$$z \in \mathbb{U}$$
,  $-1 \le B < A \le 1$ ,  $0 < \alpha \le 1$ .

**Definition 1:** A function  $f \in \mathbb{T}$  of the form (2) belongs to the class  $\mathfrak{H}(A, B, \alpha, \gamma, \tau, \sigma)$  if

$$1 + \frac{1}{\sigma} \left\{ \frac{z l'(z)}{l(z)} - 1 \right\} < m(z) \tag{4}$$

$$\sigma \in \{\mathbb{C} \setminus 0\}, z \in \mathbb{U}, -1 \le B < A \le 1, 0 < \alpha \le 1, \tau > 0, \gamma > -1.$$

# Remark 1:

when 
$$\sigma = 1$$
;  $1 + \frac{1}{\sigma} \left\{ \frac{zI'(z)}{I(z)} - 1 \right\} < m(z) \ reduces \ to \frac{zI'(z)}{I(z)} < m(z) \ [2]$ 

when 
$$b = 1$$
,  $\alpha = 1$ ;  $1 + \frac{1}{b} \left\{ \frac{zI'(z)}{I(z)} - 1 \right\} < m(z)$  reduces to  $z \frac{f'(z)}{f(z)} < \frac{1 + Az}{1 + Bz} [8]$ 

**Definition 2:** A function  $f \in \mathbb{T}$  of the form (2) belongs to the class  $\mathfrak{M}(A, B, \alpha, \gamma, \tau)$  if

$$I'(z) \prec m(z)$$

$$z \in \mathbb{U}, -1 \le B < A \le 1, 0 < \alpha \le 1, \tau > 0, \gamma > -1.$$

### 2. Main Results

### **Coefficient Inequality**

**Theorem 1:** A function  $f \in \mathbb{T}$  of the form (2) belongs to the class  $\mathfrak{H}(A,B,\beta,\rho,\mu,\sigma)$  if and only if

$$\sum_{k=2}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] \left\{ \sigma\alpha \left( (1-\alpha) + (A-B) \right) - (k-1)(B-1) \right\} a_k \le \sigma\alpha \left( (1-\alpha) + (A-B) \right)$$
 (5)

$$\sigma \in \{\mathbb{C} \setminus 0\}, z \in \mathbb{U}, -1 \leq B < A \leq 1, 0 < \alpha \leq 1, \tau > 0, \gamma > -1.$$

**Proof:** Let  $f \in \mathfrak{H}(A, B, \beta, \rho, \mu, \sigma)$ . Then

$$1 + \frac{1}{\sigma} \left\{ \frac{zI'(z)}{I(z)} - 1 \right\} < m(z)$$

By the definition of subordination and upon simplification of (3),

$$\frac{zI'(z)}{I(z)} = \sigma m(\omega(z)) + 1 - \sigma$$

$$\omega(z) = \frac{zI'(z) - I(z)}{I(z)[\sigma\{B + \alpha(1 - \alpha) + (A - B)\} - B(\sigma - 1)] - BzI'(z)}$$
(6)

It can also be seen from the definition of subordination that  $|\omega(z)| < 1$ , so (6) is written as

$$\omega(z)| = \left| \frac{z I'(z) - I(z)}{I(z) [\sigma\{B + \alpha(1 - \alpha) + (A - B)\} - B(\sigma - 1)] - Bz I'(z)} \right| < 1 \tag{7}$$

Using (3) in (7), it yields

$$\left|\frac{-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}(k-1)a_kz^k}{\sigma\alpha((1-\alpha)+(A-B))z-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\gamma+1)\Gamma(\gamma+1)}\{B+\sigma\alpha\big((1-\alpha)+(A-B)\big)-Bk\}a_kz^k}\right|<1$$

Since  $\mathbb{R}(\varphi) \leq |\varphi| < 1, \varphi \in \mathbb{C}$ . Then

$$\mathbb{R}\left\{\frac{-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}(k-1)a_k}{\sigma\alpha((1-\alpha)+(A-B))-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+1)}(B+\sigma\alpha\big((1-\alpha)+(A-B)\big)-Bk\}a_k}\right\}<1$$

Taking the value of z on the real axis as  $z \to 1$ 

$$\sum_{k=2}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] \left\{ \sigma\alpha \left( (1-\alpha) + (A-B) \right) - (K-1)(B-1) \right\} a_k \leq \sigma\alpha ((1-\alpha) + (A-B))$$

Conversely, Suppose  $f(z) = z - \sum_{k=2}^{\infty} a_k z^k$  and

$$\sum_{k=2}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] \left\{ \sigma\alpha \left( (1-\alpha) + (A-B) \right) - (K-1)(B-1) \right\} a_k \le \sigma\alpha ((1-\alpha) + (A-B))$$

holds true, and

$$1 + \frac{1}{\sigma} \left\{ \frac{zI'(z)}{I(z)} - 1 \right\} < m(z)$$

Using the principle of subordination,

$$\left\{\frac{zI'(z)}{I(z)}\right\} = \sigma m(\omega(z)) + 1 - \sigma \tag{8}$$

On expansion of equation (8) and making  $\omega(z)$  the subject of the equation

$$\omega(z) = \left| \frac{-\sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} (k-1) a_k z^k}{\sigma\alpha((1-\alpha)+(A-B))z - \sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+1)} \{B + \sigma\alpha((1-\alpha)+(A-B)) - Bk\} a_k z^k} \right|$$

There is need to show that  $|\omega(z)| < 1$  in such a way that

$$|-\sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}(k-1)a_kz^k| < |\sigma\alpha((1-\alpha)+(A-B))z - \sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \big\{B + \sigma\alpha\big((1-\alpha)+(A-B)\big) - Bk\big\}a_kz^k|$$

$$|-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}(k-1)a_kz^k|-\Big|\sigma\alpha\Big((1-\alpha)+(A-B)\Big)z-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}\Big\{B+\sigma\alpha\Big((1-\alpha)+(A-B)\Big)-Bk\Big\}a_kz^k\Big|<0$$

$$|-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}(k-1)a_kz^k|-\Big|\sigma\alpha\Big((1-\alpha)+(A-B)\Big)z-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}\Big\{B+\sigma\alpha\Big((1-\alpha)+(A-B)\Big)-Bk\Big\}a_kz^k\Big|\leq$$

$$|-\sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}(k-1)a_kz^k -\sigma\alpha\Big((1-\alpha)+(A-B)\Big)z - \sum_{k=2}^{\infty}\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}\Big\{B+\sigma\alpha\Big((1-\alpha)+(A-B)\Big) - Bk\Big\}a_kz^k\Big|$$

Taking z = 1;

$$|-\sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} (k-1) a_k | - \left|\sigma\alpha \left( (1-\alpha) + (A-B) \right) - \sum_{k=2}^{\infty} \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \left\{ B + \sigma\alpha \left( (1-\alpha) + (A-B) \right) - Bk \right\} a_k \right| \leq$$

$$\sum_{k=2}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \left\{ \sigma\alpha \left( (1-\alpha) + (A-B) \right) - (k-1)(B-1) \right\} a_k - \sigma\alpha ((1-\alpha) + (A-B)) \le 0 \right]$$

Hence,  $f(z) \in \mathfrak{H}(A, B, \alpha, \tau, \gamma, \sigma)$ .

## Remark 2

1. When  $\sigma = 1$ ,

$$\sum_{k=2}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] \left\{ \sigma\alpha \left( (1-\alpha) + (A-B) \right) - (k-1)(B-1) \right\} a_k - \sigma\alpha \left( (1-\alpha) + (A-B) \right) \le 0 \text{ reduces to } a_k - \alpha \left( (1-\alpha) + (A-B) \right) \le 0$$

$$\sum_{k=n+1}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] \left\{ \alpha \left( (1-\alpha) + (A-B) \right) - (k-1)(B-1) \right\} a_k - \alpha \left( (1-\alpha) + (A-B) \right) \le 0$$

# **Inclusion Relations**

**Theorem 2:** A function  $f \in \mathbb{T}$  of the form (2) belongs to the class  $\mathfrak{H}(A, B, \alpha, \tau, \gamma)$  if and only if

$$(1-B)\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k \le (A-B)$$

$$z \in \mathbb{U}, -1 \le B < A \le 1, 0 < \alpha \le 1, \tau > 0, \gamma > -1.$$

$$(9)$$

#### Proof.

Let  $f(z) \in \mathbb{T}$  belong to the class  $(A, B, \alpha, \gamma, \tau)$ , then by the definition of class  $\mathfrak{M}(A, B, \alpha, \gamma, \tau)$ 

$$I'(z) < \frac{1 + Az}{1 + Bz}$$

where

$$I(z) = z - \sum_{k=2}^{\infty} \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^k$$

$$I'(z) = 1 - \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^{k-1}$$

Using the subordination principle,

$$1 - \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma + k)\Gamma(\tau + \gamma + 1)}{\Gamma(\tau + \gamma + k)\Gamma(\gamma + 1)} \right] a_k z^{k-1} = \frac{1 + A\omega(z)}{1 + B\omega(z)}$$

$$1 + A\omega(z) = (1 - \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma + k)\Gamma(\tau + \gamma + 1)}{\Gamma(\tau + \gamma + k)\Gamma(\gamma + 1)} \right] a_k z^{k-1}) (1 + B\omega(z))$$

which implies that

$$|\omega(z)| = \left| \frac{\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^{k-1}}{(A-B) + B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^{k-1}} \right| < 1$$

$$\mathbb{R}\left\{\frac{\sum_{k=2}^{\infty} k \left[\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}\right] a_k z^{k-1}}{(A-B)+B \sum_{k=2}^{\infty} k \left[\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}\right] a_k z^{k-1}}\right\} < 1$$

Using |z| = r, 0 < r < 1;

$$\textstyle \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k r^{k-1} \leq (A-B) + B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k r^{k-1}$$

$$\textstyle \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k r^k \leq (A-B)r + B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k r^k$$

If the value of r is chosen on the real axis as  $r \to 1$ , then

$$(1-B)\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k r^k \le (A-B)$$

It is important to show that

$$I'(z) < \frac{1+Az}{1+Bz}$$

i.e.

$$1 - \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^{k-1} = \frac{1 + A\omega(z)}{1 + B\omega(z)}$$

Since

$$|\omega(z)| = \frac{\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} a_k z^{k-1} \right]}{(A-B) + B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)} a_k z^{k-1} \right]}$$

We need to show that  $|\omega(z)| < 1$ , which implies that

$$\left| \sum_{k=2}^{\infty} k \left| \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right| a_k z^{k-1} \right| < \left| (A-B) + B \sum_{k=2}^{\infty} k \left| \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right| a_k z^{k-1} \right|$$

$$\left| \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^{k-1} \right| - \left| (A-B) + B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^{k-1} \right| < 0$$

$$\left| \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^k \right| - \left| (A-B)z + B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^k \right|$$

$$\leq \left|\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^k - (A-B)z - B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k z^k \right|$$

$$\leq \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k - (A-B) - B \sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k$$

$$\leq (1-B)\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] a_k - (A-B) \leq 0$$

Which gives that  $|\omega(z)| < 1$  by maximum modulus theorem. Hence,  $f \in \mathfrak{M}(A, B, \alpha, \gamma, \tau)$ 

#### Theorem 3:

Let

$$\delta = \frac{A - B}{(1 - B)k \left[ \frac{\Gamma(\gamma + k)\Gamma(\tau + \gamma + 1)}{\Gamma(\tau + \gamma + k)\Gamma(\gamma + 1)} \right]}$$

Then  $\mathfrak{M}(A, B, \alpha, \gamma, \tau) \in \beth_{\delta}(e)$ 

### Proof.

If  $f \in \mathfrak{M}(A, B, \alpha, \gamma, \tau)$  then it can be seen from (9) that

$$(1-B)\sum_{k=2}^{\infty} k \left[ \frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)} \right] \alpha_k \leq A-B$$

$$\textstyle \sum_{k=2}^{\infty} k a_k \leq \frac{A-B}{(1-B)k \left[\frac{\Gamma(\gamma+k)\Gamma(\tau+\gamma+1)}{\Gamma(\tau+\gamma+k)\Gamma(\gamma+1)}\right]} = \delta$$

Which implies that  $f \in \beth_{\delta}$ Therefore,  $\mathfrak{M}(A, B, \alpha, \gamma, \tau) \in \beth_{\delta}$ 

#### Conclusion

Two new subordination-based classes of analytic functions defined in the unit disk  $\mathbb{U} = \{z \in \mathbb{C}: |z| < 1\}$ , by incorporating a complex parameter into the framework of Atshan *et al* [2], were introduced. We established coefficient inequality for the functions in this class and investigated it's neighbourhood properties, the results obtained generalized the original work of Atshan *et al* [2].

#### References

- 1. Atshan WG, Kulkarni SR. Neighborhoods and partial sums of subclass of k-uniformly convex functions and related class of k-starlike functions with negative coefficients based on integral operator. South Asian Bull Math. 2009;33(4):623-37.
- 2. Atshan WG, Al-Khafaji SN, Hussein NK. Some applications of a new class of univalent functions defined by subordination property. Appl Math Comput. 2014;243:132-42.
- 3. Bitrus S, Opoola TO. A new univalent integral operator defined by Opoola differential operator. Int J Nonlinear Anal Appl. 2023;1-12. doi:10.22075/ijnaa.2023.30730.4477.
- 4. Duren PL. Univalent Functions. New York, NY: Springer; 1983.
- 5. Fatunsin LM, Opoola TO. Hankel determinant of second kind for a new subclass of analytic functions involving Chebyshev polynomials. Asian J Math Comput Res. 2025;32(3):40-50.
- 6. Fatunsin LM, Opoola TO. New subclasses of analytic functions associated with generalized Bessel functions. Int J Nonlinear Anal Appl. 2024. In press.
- 7. Goodman AW. Univalent Functions. Vol. I and II. Tampa, FL: Mariner Publishing Company Inc; 1983.
- 8. Janowski W. Some extremal problems for certain families of analytic functions. I. Ann Polon Math. 1973;28:297-326.
- 9. Jung I, Kim YC, Srivastava HM. The Jung-Kim-Srivastava integral operator and its applications. J Math Anal Appl. 2002;275(1):43-58.
- 10. Miller SS, Mocanu PT. Differential Subordinations: Theory and Applications. New York, NY: Marcel Dekker, Inc; 2000. (Series on Monographs and Textbooks in Pure and Applied Mathematics; No. 255).